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)

@ Warm Up Grade 8

. Fal .5
1) Solve a) 3x 11=52" b) n +5—-8
Dx = ‘°.,_35 IR T b oo
G= b
Expand n: 52
(&
2) a) 10(9x - 8) b) 3(-2g +7)
Q0x -0 "‘;3 2\
3) Write an equation and %OLVE for the following: Y
1=
a) "7 more than MOf a numberis 11" 3 1 "
-1 -
b) Double a number reduced by 3 is 19 .& +1 = L
A% - 3 <19 x _l *3
Mental Math ~ Zx -3 "= 19+3 33
4) 35% of 80  2x = 22 @
<2 =

E{;’—“X
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SAMVES
1) Solve a) 3x-11=52 (4 b) n +5 =-8
4
Expand
2) a) 10(9x - 8) b) 3(-2g + 7)

3) Write an equation and SOLVE for the following:
a) "7 more than a third of a number is 11"

b) Double a number reduced by 3 is 19

Mental Math
4) 35% of 80
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SAMDES
1) Solve a) 3x-11=52 v/ b) n +5 =-8
3x -\bi= 5A '4 c
Q‘X, = ‘3 ‘ﬂ‘ "'yg: -8’

:& é% -1 C‘q)
(r75]
Expand

‘LS + |

Q00 —0

3) Write an equation and SOLVE for the following:
a) "7 more than a third of a numberis 11" ‘) %— +1=1\
b) Double a number reduced by 3 is 19

—_—+ == Ll-
® 2n-3 -\ L
IN-DV3 = 1943 % T 4
2N < @
I DL 4w

A= -
Mental Math ‘E @

4) 35% of 80

10 Y% of80 = § AGO/oNG €y
X2 Xy 5/0‘:30 Y
3-0—0/0 0": 80“_ a"

30/451
357, ofF B0 = 34+y
= 38
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4 7(3+%) 7x3 +7¢ &

7 (1) 2] + 56
77 1
5 5(7-2) 5¢7-5x 2
5x5 35~ 10
as QS
Q-A9-Y4) [ R -2
—2(5) =13 +(+%)
-10 =10

The answers are Lhe same

o <och pair.
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5. S(v4A sy 410
| L1 DD
[ O@
} = [ OO
| L1 DD
| 111 DD
59»0«956; v 2 54s odbenls
b, 7 (Hs) 2% +1s
: OO0 gm0 —
DO m &
DO m @
D0 @ O
DO m @
DO @ O
DO @ @
qgroup.c of 1B ones and 1S's

4 s
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7s) 2(+Ho)
W F20

(,) 1b\$¥2D)
0¥ ¥ 20

e) 3(3ty)
b4 By

A) 3(9t+9)
3

3 g +19)
V ‘7§+|05

By § (Fl

&bUﬂa
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W) '+LII-\-ri
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CV
@7) -2(r\-‘ét+8)

~ex +2| ok —1b
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Solving Equations that
Involve the Distributive Property

The Distributive property may also appear in solving equations.
When it does, first you have to apply the distributive property, then solve as you

normally would. :B: QA‘S W Vou mu,\-"\p\j

Solve the following: ?bd&t;mg in S\d"- bracket Then

(2) m) =18 (b)@) =9

qu-%-_l% 5x—\5=c|
Ax + &%= 1%-% 3x =187 qI®
X+ ® = 1%-

3 x =24

’Lx.- \o a3 <3

=) x=8)
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Word Problem

Ex)

I have 4 friends. We each have a package of cookies and we each have
2 cookies that are not in the package. If we have 50 cookies in total,
how many cookies are in each package?

L:,LC P&i‘;s‘-“'\" hint : How many people?
ea .

Cookies in
5(_, +10 = 50O eacn epoackag

Sc+ 100 = 50-I0

Sc = Hb
<5 =S

=3
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%) Bil's Mom pays  Bil 025
‘FJ(' eoh Sock he Folds . Bud gove hsm
sa?-‘ﬁ;' be.:.5 o g\ux\- Son. T € She gaw
him 395.50 ) then howmMony Sedes d:d he

'("o\d? (\Show uooc\u)
| ed x= #oC Socks he folded

O.2Hx + 20 = 16.%50

0-25x +y20"" = 25,50'2
0.25x = 65.50

-=0.25 =~ 0.25

X = 21]
B folded 22 Socks

+)

10
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Eomework pg. 347 # 4-5

Test PART 1 outline
5 MC
6 Short Response

#1 Draw tiles and solve an equation

#2 Use Algebra tiles or box method to prove distributive
property

#3 For each problem, state the variable, write and solve the
equation, verify and give a statement. (Like warm up on
Friday)

#4 Solve  Ex) 2(x-3)=16

#5 For each of the following tell whether the pair of
expressions is equivalent or not.

#6 (Is it correct if yes then verify if no then redo)
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pg. 342 #7-16, 18,19 Reflect

Ts) 2(+H by §(=H
) 2(+40) )59-.+.5\

NG 1
¢) Ib1&xD) &) bCI24a)
Io% + 20 Ly
e) 38t $H St
wéi 5 s+3%
W) &+
2 3;}-3;? e

6103 &34

12
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ga\ 3()("1)
Iy -2

g ()]-£)
& @3-QL

L) lolb=-2)
) Ob— 20

q Ser=gs¥ststs
=b+h¥ bih

o 2b+ah

or
Qer = 2L5HN)
=253 2h

Mscvs))

Y He-3)
4&‘ ,2
d 18-
Se-1%
£ LG-2
lbp -1
h 205-v)
36-2v

W Nle-4)
e -

13
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10. Kb=bh
bhven wou W\l,..l-):'le'/g oder daes nst modler

X 3=3x2

kxb:.b“’)

L a(6—4)
= S"} "q'k
Sach 15 (@)

2. & —blctt) Y —8(-5) (~2(-S)
I
c) 10 (§-7) d) 3(-3-g)

10y =76

6\"3(8-‘3\ _u_‘__(_gb -2(-st5)

~ b4+ 3’5 - bt 94

14
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3. 3 2x#20  ond 2(x$20)
net QGLui\loJen{:

2 +20)
= AR +40
'T’\fA dida't W\u“:'\'p,& the Q0 L’&‘Q-

N 3y+7 and 10y
ok Qtto:\vulent Co\:B 36331

WX <quals /0L buk qow
don't add the R and Ehe? n
W7 becavse tl\?& ar-whfike derms,

Q) 612t and Q(£+2)

?G‘_b\i\laltnt

A
Qt"" 4 N"\\t)\ ;& -U\Q Same as 6t+24
(add in any order).

0\) C]H a\)\o‘ H‘}
G uivalent
Qo Con adoh ih oy deder

15
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14 /5x25+/5x/4 6R /5(astiy)

age  Pethe (#:i‘fjﬁf%
b 375 +210 _
4
Ib‘oh(la\ :
bx%%x% d S’(‘H&\
‘+4o (1M
?6‘
/4 Co,wn'\ | Column 2
A GE-6)
bt-3(, «v)
5 ~6(E-6) |
04306 ()
QA () N
~bt-3¢ (W)
A G(6HE)

b} 6k (\)

16
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\Cc'% L L:?*(‘QZ@ oY -Héf‘b—?—}
1134) 35-}7/L\—I'f
2147y 214}

Y -3(- 4 9-3)
~3(-14%)
3k - LS
C) —% (’j-l-.st?)

-g(-4+9

22}(-%s)
32- 9s

N 12(-/0-p+7)

2 _ -
124-3.8)

17
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Mgy 207+ bt ) B N (76 +e—5)

M3 2b42¢ ~bb+ le-1¥
0) “\("r 4+ —8) A) ‘]OL’G'V"’U))
r -c+% b0 +/0v +/bw

€) $(-15-K) $ 4 (gH2-4)
6} -1%- 5k g~ 43 14k

18
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